NO. 2

GH=31. 62

DL=20. 00

NO. 1

GH=31. 81

e . S

DL=20. 00
NO. 0
GH=32. 06
|
i
T%%%%\g\\“\\\\\‘ = | #éfﬂﬂﬂﬂﬂf
- |
|
|
i
|
S 4EE ME&ES 1 /1
E XA KEMARBIZEXTE
DL=20. 00 5 it R o RRH KB E A
m % | EWR(FERNE) | ER 1:200

RMPREA  RHAREDMISE I HEER




NO. 5

GH=31.19
\
o - | M
M - |
\
|
|
|
\
DL=20. 00
NO. 4
GH=31. 28
\
\
= \
T%%%%%x\\\\\\‘ ‘ ’//Kfffffff
|
!
\
\
DL=20. 00
NO. 3
GH=31. 40
!
\
%b\ < | JM
!
|
\
|
\
S 45E | HEERE | 2 /7
= %% K N B B TS
DL=20. 00 B R RWRRERFACHETIEH
B % | HER(ESHE) | MR | 1:200

RMPREA  RHAREDMISE I HEER




NO

.8

GH=31. 28

DL=20. 00

NO

A

GH=31.18

DL=20. 00

NO

.6

GH=31. 09

M =2

DL=20. 00

M 45E HE&E=S 3 /1

EFX A KEMAEBIERT

i P R A RERFH KB (FE A

m & | EERRENE) | R | 1:200

RMPREA  RHAREDMISE I HEER




NO. 11

GH=31. 23

\

\

\

M | J

|

|

\

|
DL=20. 00

NO. 10

GH=31. 27

\

|

T::T::T::T:3W::T::>\\\\\\\\\\\\\\\\\ | ////-#d/<i:fij<ij<ij<:j<:T

|

\

|

\

\
DL=20. 00

NO. 9

GH=31. 35

|

\

T:>T:>T:>TI>t:>T:>\\\\\‘\—*—‘\”—\“—~ ‘ ///<:j<:j<:f<:7<:j<:j

|

|

\

|

\
DL=20. 00

M 45E HE&E=S 4 /1

EFX A KEMAEBIERT

i P R A RERFH KB (FE A

m & | EERRENE) | R | 1:200

RMPREA  RHAREDMISE I HEER




NO. 14

GH=31. 25

\
T§T>Q> |
b | = M

|
i
\
|
\

DL=20. 00

NO. 13
GH=31.28
\
\
| =
M ‘ j

|
|
\
\

DL=20. 00

NO. 12
GH=31.33
\
\
i —L
T:>t>[i>T:>t>\ ‘ #—‘~ﬂ#i///’//K<:fij<;j<?j<:fijr
|
\
|
\
S 4FE XEES 5 /1
T X4 KEMARBEEF
DL=20. 00 15 Fir R p XEFAKGHETIE A

m & | EERRENE) | R | 1:200

RMPREA  RHAREDMISE I HEER




NO. 17

GH=31. 46
|
|
|
|
|
|
|
DL=20. 00
NO. 16
GH=31. 35
|
% = %
|
|
|
|
DL=20. 00
NO. 15
GH=31. 28
|
|
|
|
|
|
|
[ 4FE Mm&ES 6 / 7
XA KEMAEAEET
DL=20. 00 % P IR P RRF K ET IR A
H %4 | EEMREZEE) | R | 1:200

RMPREA  RHAREDMISE I HEER




NO. 20

GH=31.79

|

|

|

|

|

|

DL=20. 00
NO. 19

GH=31.98

|

| =
‘ =
|

|

|

|

DL=20. 00
NO. 18
GH=31. 66

M

DL=20. 00

M 45E HE&E=S 1 /1

EFX A KEMAEBIERT

i P R A RERFH KB (FE A

m & | EERRENE) | R | 1:200

RMPREA  RHAREDMISE I HEER




